26709 2008 14:53 FAX +27 51 4042019 CORPORATE AUDIT BFN goo1

NIVERSITY EXAMINATIONS UNIVERSITEITSEKSAMENS

: iammmg
% 1 of south st

Brayfjune 2008

MANAGEMENT ACCOUNTING Tk iD N DECISION-MAKING

Duration 2 Howrs 100 Marks

NERE .
53T MRS AM RAATH BIRES B AOK
T,

MRS PR BE

TNy

SHTERMNAL

tse of 3 non-programmable pocket caloulator is permmissible,

T T Sy R e ]
Tris paper consisis of 8 pages,

Al cuestions muist be answered andd caloulations must be ghown

sure that you are handed the correct sxamination soript (blue) by the nvigilator,
Each guestion attemptad rmust be commenced on 8 saparate page.

You may not answar vour examinaglion paper iy pencil or red pan,

anore taxation and the tme valug of money, except when specifically stated.

£

Fhe pass mark for this module is 50%.

B tn e 0 P9
e

i

PROPOSED TIMETABLZ

Question . Tepic arks | Minutes

1 Multiple choice questions 20 24

4 Foonomic order quantity ' 25 30
100 120

ITURN OVER]



26709 2008 14:55 FAX +27 51 4042019 CORPORATE AUDIT BFN gooz2

2 ACN3184/ACNI0EY
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QUESTION 1 (20 marks: 24 minutes)

This question consists of 7 multiple choice questions. Each gquestion should be considered
independentty, unless specific reference is made 0 information in another question. Each question
has only one correct answer and the marks per guestion are indicated in brackets after each guestion.

Please list the question numbers below one another, from 1.1 fo 1.7 with your corresponding answer
next to i, for example:

11 Consider the following statements regarding the newer concepts in Management Accounting:

Py

inspection, rework and product recalis add quality to a product. .

2. Target cost is the cost that can be incurred on & product so that the required profit on the
product can still be earned.

1 The Just in time (JT) approach allows management to address and solve probiems, for
example, hottlenecks and ahsenteeaism.

4. Activity-based management (ABM) is used to improve the performance of an

organisation and to manage costs.

Indicate which of the above statements are true:

a) Statements 2, 3 and 4

o) Statements 1 and 3

c) Statements 2 and 4

d) All of the above statements
) None of the above

P o e T

e

1.2 Consider the following statemants with regard to correlation and regression analysis: .

1. In determining the correlation between delivery cost and sales, sales is the independent
variable and delivery cost the dependent vaniable.

2. in the formula y = a + bx, y represents the fixed cost and intercept on the y axis, and x
represents the variable cost and the siope of the line.

3. Projections can be made of the delivery cost and sales by means of the regression iine
by substituting either the a or b value into the equation and solve for the unknown.

4. A perfect correlation between two sets of data will result in a coefficient of correlation of
A or -1,

indicate which of the above statements are false:

(a) Statements 1 and 2

(b) Statements 2 and 3

(o3 Statements 1 and 3

(d} Statements 1, 2 and 3

(e) None of the above {3)

[TURN OVER]
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QUESTION 1 {continued)

1.3 Dayla Limited 1
manus ﬁ&}z}i@%—
experiancs ¢

applies from E’h
this case.

t staried mardaciun g;g naw threshing machine which reguires 2 lot of
3 4 g@emu; %m g% &mmfﬁum the first four machines, Past

i nines has shown that 2 90% leaming curve

i {s] i{“é% i:!m%m? T machine 1o be manufactired, which can be assumed in

Consider the following statements:

: aﬁufaﬁ;aurﬁg ttmeﬁ for the § fa,i E% mawh,ms je %3 33 20 hours:

[ !atm B i par maching for the firg

1 x}'ﬂii{?} 78 Bur

v firsd Ef’wgmm machine took 1 440 labour bours to manufaciure.

“h he curmlative average manufacturing time per machine for the first 4 machines is
1288 hours.

i' b T

indicate which of the above statements is frue (round figures 1o two decimals)

(@} Al of the above stalements

() Ji’&rm”ﬁ%ﬂ% 1, 2 and 3

oy Statements 1, 2 arsz

{ely Statements Jand 4

{&) Mone of the above (1

hilg budget was taken from the records of Doman (Fy) Lig

No of prodhced 10 000 20 GO0
é‘% R
Direct labour 300000 0 B00 000
Maintenance costs 18400 2@ 8OO |
Depraciation 17 800 | 7500

Consider the following statements with regand to the sbove:

1. Dirgct iabaour represents a sembvariable cost.
2 Mainienancs represents & variable wmi
3 Depreciation represents a fixed cost

indicaie which of the above stataments are trug;

%ia%@m'@mﬂ: amcﬁ 3
None of the above (3
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QUESTION 1 {(continued)

The following information must be used for the purpose of answering questions 1.5 and 1.5,
bearing in mind that questions must be considered independently from each other.

Fitex Ltd manufactures various exercise and fitness products. The branch in Centurion manufactures
two fypes of electronic exercise belts, namely the Stim Belt and the Trim Belt. The Slim Belt has made
a loss over the past year, and management has to make a decision whether 1o discontinue with i1,

The foliowing budget, based on 80% capacity, has been compiied for the Centurion branch:

Trim Belt Shim Beh
Units produced 5000 4 000
R R
Sales 1700 000 1400 000
EXpenses 1403000 1860000
Direct material | 378000 | 460000 |
Direct labour 200 000 ‘ 300 G0O0 | -
Total overheads | 825000 | 1100000
Net income/{loss) 297 000 {460 000)
Additional information:
1. Fixed overheads for the branch amounts to R 1 145 000.
2. Organisational overheads of the head office are allocated to the branches at a specific rate

and amount to 20% of fixed overheads. The rest of the fixed overheads are connected
exclusively to the Centurion branch.

3. Overheads are allocated to production based on direct labour cost.

4. The demand for the Trim Belt will not be affected if the Slim Belt is discontinued.

1.5 The value of fixed overheads to be taken into consideration when making the decision whether
to discontinue production of the Stim Belt is;

(3

(@) R1 145000
(b)  R916 000
(cj  R549600
(d

(

) R366 400
) None of the above

1.6 The value of variable overheads to be taken into consideration when making the decision
whether to discontinue production of the Siim Belt is:

(a) R468 000

() R780 000

(c) R312 000

(d) R1 925 000

(e) None of the above

[TURN OVER]
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THON 1 (continued]
Which one of the following fonmulae is incomest?
-

) Marginal income ratioc = Marginal income per unitSelling price par unit %..ﬂ"“w
e Mf% neome ratio = Tolal net income/ Selling price per unit v;'jg
{e Marg cost ratic = Tobal margingl cost/ E@faﬁ BHIES
{d) Salmg = Marginal cost + fixed cost + proft
{

@) Mone of the above

TIORE 2 {30 marks; 36 minutes)

G You are the owner of 8 f;f:}m@}aw witich provides raining.  You have besn approached to prepare a

guotation for raining at a business on the far North coast of Kwalulu-Natal,

You s

sve prepared the following budgeted information for a group of 80 attendants:

R
“N‘w{}ﬁ{ﬁ
s fee 17 100

le income par person 17

T samounts include Value-added-tax (VAT) al a rate of
EXPENDITURE: (EXCLUDING VAT
Rent per day & 350
Return air ticket per person 1200
Car rental per day,  (includes 100 free kilomelres per May 200

thargalter a rate of B3 .00 per o will be
charged)

- Accommogation pes person per night Bl
Salary of assistand 2 000
Meals & refreshments for course aftendants per person per day 225
it;%az onery (A0% fied) 8 000
Administrative expenses (100% variable) 3750
ADDITIONAL INFORMATION:

o Erairing il {ake place: o & dnd ' g
Tambo international airport in n Johannesbur rg 10 i%*a@ Durban international airport on the 4«‘“

GO YU Wil iy Tror

June, where you will rent & car and drive to the Norih coast, retuming to the Durban
mtemational alrport and de @ arting o Johannesburg on the 6" of June.

it is expected that you will travel 450km by car during the 3 days.

One administrative assistant wi iL SCOOMIPEANY YOu OGN YOur rip.

Mg o the popularity of the training programime, it is expected that 50 people will attend the
fraining session.

The gquotation per attendant includes sall course matenal, mezis and refreshmeants.
Accommaedation is not mcluded.
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QUESTION 2 {continued)

REQUIRED:
(a) Calculate the number of people needed to attend the training course in order for you to
break even, (20}
by Determine the margin of safety and state the signiticance thereof. {4}
(c) Calculate the variable income per person (excl. VAT) if you want to eam an after-tax net
income of R40 000 from this training course, if the fixed cost and the number of course

attendants remain the same. Your current rate of taxation is 29% (&)

NB: All figures should be rounded off to the nearest rand. [30]

QUESTION 3 {25 marks; 30 minutes)

Francois, a member of Frangie CC, a civil engineering entity has asked you to assist him with the
planning, organising and controliing of the business’s projects. You decide you will use your
knowledge of network analysis to assist him.

PART A

You are given the following information on the activities of the construction of a canal system at the
local dam.

(a) The following estimates were made for the compietion of the construction of 3 jetties:

Optimistic estimate: 16 days
Most iikely estimate: 18 days
Pessimistic estimate: 32 days
Calculate the expected time for the activity. {3)

(b} The construction of 2 ramps has an estimate of 45 days duration at a cost of R122 000, You
discover that the activity can be accelerated to a duration of 30 days at 2 cost of
R153 500,

Calculate the cost siope of the activity and state the significance thereof (4)

ITHRN OyvE
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QUESTION 3 {eontinued)

The business has been asked o tender for & project o lay waler-pipes at the iocal airstrip. The
nformation made avaiable (o you led you to the following:

1. Network disgranm:

Project variable costs:

| activitw | Expected ime | Cost
ALY PR E o o s ‘ .

(Weeks) sione

_ o Normal | Accelerated <
®=® 16 14 2 600

B-© E e 4 .
S @ 14 10 2 000
D=6 i) 7 1R
s () 12z 9 4 340
N ®e-® | 19 i3 | 4000

Fixed costs are considered 1o be of a discretionary nature and are recoverad at 5 500 per
i

@y Determine the critical path for the netwerk, {3
by Determine ihe most cost effective manner in which the project can be complated (12}

{c)  Assuming the original total cost of the project amourted 1o R1 276 450, calculate the
tender price if Frangie CC wants to eam a 30% profit on cost price using the minirmurm

axpected cost (3)
[25]
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QUESTION 4 (25 marks; 30 minutes)

Computex (Pty) Lid is & supplier of computer equipment. Its premises are situated nearby the local
university. One of its products, a laptop computer selling at R4 900, is very popular among the B Com
students,

The company sells on average approximately 20 laptop computers per week. Sales take place evenly
throughout the year which consisis of 50 weeks.

The company purchases the laptop computers at a cost of R3 430 each  The cost to place an order
amounts to R300 and orders are executed within 5 weeks.

Safety stock should amourt {o the sales requirement for 3 weeks.

Direct stockholding costs are R35,00 per unit and insurance on the laptop computers amount ta 10%
of the unit cost per vear,

.

The supptlier has offered a quantity discount of 5% per laptop computer on orders of 150 units. The
company implemented the economic order guantity model to manage its inventory.

The current after tax cost of capital is 11% per annum, the current rate of inflation is 7% per annum
and the current rate of taxation is 29%.

REQUIRED:
{a) Advise management of the company whether they should accept the special offer

from the supplier. (20)
{9 Determine the re-order point for the laptop computers. (2)
(©) List any three implications if a quantity discount is accepied. [2%

©
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